
CAUTION:     REMOVE THE MAGAZINE AND VISUALLY CHECK THE CHAMBER 

	         TO ENSURE THAT YOUR FIREARM IS UNLOADED.

This A2 front sight JP Gas Block is 
designed for use on barrels with a .750 
gas block journal and should fit with 
little or no modification.  We strongly 
encourage you to read through these 
instructions once before beginning the 
installation process paying particular 
attention to the “Securing the Gas 
Block” section below.  This installation 
will require the use of Loctite® 243 or 
an equivalent thread locker, which is 
not included.

BARREL PREPARATION

1.	 If you are installing this device on a barrel that is already in assembly in your upper, first 
remove the takedown pins and separate the lower and upper to make the job easier.  

2.	 Secure the upper assembly in an appropriate vise.  We recommend using our soft-
anodized JP Vise Clamps or padded vise jaws.

3.	 If you already have a gas block installed, you will need to uninstall it along with any 
other accessories that will cover or block the gas block such as the hand guard and 
muzzle treatment, depending on your situation.  If you intend to reuse the original gas 
tube, remove the gas tube roll pin securing it in the existing gas block using a 1/16” drift.

PARTS INCLUDED

  • A2-type front sight gas manifold
  • Two (2) 10-32 x 1/2” socket head clamp screws
  • One (1) 8-32 x 1/4” gas adjustment set screw
  • One (1) 6-32 x 1/4” locking set screw

 
     • 5/64” x 5/16” roll pin           	• Front sight post
     • 3/32 x 1/2” spring pin          	• Detent plunger
     • 1/16 hex key	                	 • Detent spring
     • 5/64 hex key 

G

H

D

E

F I

C

B

A

JP BILL OF MATERIALS FOR JPGS-2FS ASSEMBLY(JP ADJUSTABLE GAS BLOCK FRONT SIGHT ASSEMBLY)

THE TABLE IS INTENDED TO INCLUDE ALL PARTS NEEDED FOR THE QB ASSEMBLIES:

oJPGS-2FS
JPGS-2FS

PFW

MBG 2014 12 18

2014 12 17

UPDATED BRASS LOCKING SET SCREW 
TO STAINLESS STEEL, ADJUSTMENT 
SCREW CHANGED TO ALLOY STEEL, 
ADDED ROLL PIN FOR PINNING AND 
ADDED HEX KEYS.

PART MATERIAL QUANTITY PART # REFERENCE
JPGS-2FS A2 FRONT SIGHT WITH GAS VALVE 4140 STEEL 1 zJPGS-2FS A

5/64" X 5/16" SPRING PIN FOR GAS TUBE STAINLESS STEEL 1 DPBL-03 B
8-32 X 1/4" SET SCREW FOR GAS ADUSTMENT ALLOY STEEL 1 MSC: 02317493 OR SIMILAR C

DPFS-03 FRONT SIGHT DETENT ALLOY STEEL 1 DPFS-03 D
DPFS-04 FRONT SIGHT SPRING STAINLESS STEEL 1 DPFS-04 E

10-32 X 1/2" SOCKET HEAD CAP SCREW FOR CLAMP ALLOY STEEL 2 10-32 SHCS 1/2 H CB F
6-32 1/4" LOCKING SCREW FOR LOCKING ADJUSTMENT SCREW STAINLESS STEEL 1 HDWE; 6-32 SSS 1/4 H SS G

.050 SQUARE FRONT SIGHT POST ALLOY STEEL 1 DPFS-DCM H

3/32 x 1/2" STAINLESS ROLL PIN FOR RETENTION STAINLESS STEEL 1 MSC #: 09578279 or Fastenal Part 
No. (SKU): 74372 I

5/64" HEX KEY FOR 8-32 SET SCREWS ALLOY STEEL 1 zHDWE:HK5/64L i N/A
1/16" LONG ARM HEX KEY FOR 6-32 SET SCREWS ALLOY STEEL 1 zHDWE: HK1/16L i N/A

JP Enterprises, Inc.
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL 1/64"
ANGULAR   2
TWO PLACE DECIMAL    .010
THREE PLACE DECIMAL  .005
MODEL .005

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
JP ENTERPRISES, INC.  ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT THE 
WRITTEN PERMISSION OF JP ENTERPRISES, 
INC. IS PROHIBITED.

5 3 2 1

JPGS-2FS

DWG.  NO. AND REV.

5 4 3 2 1

CHANGES SINCE LAST REV

GS-2FS BOM REV D
DRAWN

ENG APPR.

NAME DATE

B

A

C

D

E

PAGE 1 OF 1 
TEMPLATE REV:
JP-SINGLEPAGE-SIZE-A REV D

JPGS-2FS

Locking 
set screw

   Socket head  
 clamp screws  Securement      

 spring pin

 Roll pin

Front sight
gas block

 Sight post

 Detent  
 plunger
 Detent  
 spring

 Gas adjustment 
                  screw

Product:  
JPGS-2FS

 J P  E N T E R P R I S E S  

LOCKING ADJUSTABLE GAS SYSTEM 
.750 bore A2 match front sight, stainless steel

                                                 WWW.JPRIFLES.COM

P.O. BOX 378, HUGO, MN 55038  |  VOICE: 651-426-9196  |  FAX: 651-426-2472

Rev. 03.21



  4.	 If you’ve removed an old gas block or front sight, inspect your gas block journal for any 
high spots or burrs.  File any high spots down to ensure tight seal on the gas block.

INSTALLATION

1.	 Making sure that the gas adjustment set screw is not installed in the gas block, insert 
the gas tube so that the gas port in the tube faces down towards the barrel.  Line up the 
5/32 roll pin hole on the tube and gas block and then secure the tube using the gas tube 
roll pin supplied.  One side of the gas block has a pin hole enlarged to facilitate starting 
the pin.  

2.	 Clean the 8-32 x 1/4” adjustment screw with lacquer thinner or an appropriate solvent.  
Then, apply a small amount of Loctite® 243 to the set screw and install it in the gas block 
as shown.  Thread the screw in until it bottoms out, and then turn it back one full turn.

3.	 With the gas tube installed, slide the tube through the gas tube hole in the upper 
receiver until the gas block butts up against the shoulder behind the gas port collar of 
the barrel.  Take care not to scratch the barrel.

If you find the gas block to be very tight around the barrel, one trick is to insert the 
10-32 clamp screws and slightly tension them against a shim such as a quarter or 
a disconnector placed in the slot.  This will the spread the gas block to allow more 
clearance.  Spread the block as little as necessary to avoid damaging it.

4.	 Align the gas block to the barrel.  If you are using a JP Supermatch® or similar barrel, 
ensure that the gas block is seated against the shoulder of the gas block journal.

If your barrel is designed for a Mil-spec gas block and hand guard spacer, you will need 
to move the gas block forward approximately .025” from the shoulder to account for 
the hand guard retainer.  Otherwise, you will need to measure the distance from the gas 
block shoulder to the center of the gas port to ensure proper alignment to the gas block.

5.	 Use a level to align the top of the gas block to the upper receiver rail.  This will ensure 
the gas ports in the gas block and the barrel are aligned radially.  The JP A2 Front Sight 
Gas Manifold is designed to replace a standard military front sight assembly, and it 
is imperative that the sight not be canted in order to be within the adjustment range 
of a standard rear sight assembly.

At this point, you can test the gas block with compressed air to ensure proper alignment.  
With the bolt inserted and closed, push the air nozzle up to the muzzle and apply air 
while moving the gas block around until you hear maximum flow.  

6.	 Snug down the clamp screws, then go back and tighten them alternatingly bit by bit to 
approximately 40-45 inch-pounds of torque.  You may apply Loctite® 243 to the screws 
as an option for added stability as well as Loctite® 609 between the barrel and gas block 

2



to more permanently secure them.  If you use thread locker, make sure the surfaces have 
been cleaned with solvent.  Before use, allow all thread locker to set up according to 
the product instructions.  

GAS BLOCK SETUP

Most rifles cycle faster than is necessary, and the resulting “bolt slamming” effect is a 
noticeable part of the recoil impulse.  The main purpose of our adjustable gas blocks is to 
allow adjustment of port pressure to the operating system, thereby fine-tuning the bolt 
velocity, which will result in a smoother shooting rifle, especially if you already have a JP 
Recoil Eliminator or JP Compensator.  Additionally, the JP Adjustable Gas System is useful 
in obtaining optimum port pressure on otherwise difficult to run setups such as suppressed 
weapons, short-barreled weapons, or nonstandard cartridges.  These steps will walk you 
through setting your gas block for the particular load you’ll be using.    

1.	 If you have not already installed your gas set screw, we recommend you install it at least 
24 hours before you tune the gas block under live fire. To install the gas set screw, apply 
Loctite® 243 and thread the screw all the way until it stops. Turn the screw out two full 
turns and allow the Loctite® to set overnight before shooting. In this position, the screw 
should choke off too much gas to allow function, but we recommend this starting position 
as the symptoms of too much gas and too little gas can actually appear similar enough 
to be mistaken for each other at times. So, to determine the optimum gas setting, you’ll 
want to start out at a setting that is definitely too low and work up from there.

2.	 Load a single round into the magazine, chamber it, and fire.  If the bolt doesn’t open at all, 
open it another turn and try again repeating this process until the bolt moves when fired. 
If the bolt locks back, then turn the gas screw in two full turns and repeat the process until 
the bolt short strokes. If it short strokes at this setting, clear the rifle before proceeding.

PINNING THE GAS BLOCK

For added stability and reduced potential for migration under heavy use, this model 
of JP gas block is designed to facilitate pinning to the barrel, though be aware that this 
involves permanent modification to the gas block and the barrel.  While this process can 
be performed with a hand drill, a drill press is better suited to the task.  

With the gas block mounted as described in these instructions, locate the pilot hole 
indicated in the diagram and use a 3/32” to drill all the way through the gas block and 
barrel, and out the other side.  Then, with a hammer and suitable punch, drive in the 
included 3/32” x 1/2” spring pin so that it does not protrude past the exterior wall of 
the gas block on either side.  Due to the QPQ coating on the GS-2FS, you’ll want to use 
a carbide drill bit to avoid excessive wear.

3



3.	 Back the screw out by another ¼ turn and fire again.  Repeat this sequence until the carrier 
locks open after the round has been fired.  Verify this setting with a few more rounds.  If 
the bolt consistently locks back, you’ve effectively found the optimum gas setting, though 
you may want to open the valve another ¼ to ½ turn for reliability, especially if you expect 
to shoot different or unknown loads.

4.	 Now that you have found your ideal setting, you will want to torque the locking screw 
down with about 10 in-lbs. to lock the screw in place. The locking screw will still allow 
you to tune the adjustment screw, but be careful not to overadjust as it will wear the lock 
screw down until it no longer provides much tension. If this occurs, you will need to re-
tighten it.  

Keep in mind that the gas block has been set for the specific ammo you’ve tested it with and 
still may not cycle reliably or optimally with other loads due to their different pressures.  Make 
sure to test the valve setting with any ammunition you intend to use in competition.  If your 
rifle is used for law enforcement or military purposes, we recommend running your rifle with 
the gas valve fully open so as not to compromise reliability.  

Also, be aware that new bolt assemblies and carriers will have more friction in their relationship 
than parts that have worn in.  These may require a break-in period when the gas block valve will 
have to be set further open until the friction between the parts is reduced.  It helps to polish 
the bore of the carrier on a new bolt to reduce friction and mate the parts.

THANKS FOR YOUR BUSINESS!

4


